Run 5786 mpswise, accO: All
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Run 5786 mpswise, acc(Q: Beam OFF
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Run 5786, mpswise, acc0: Beam ON, Laser OFF
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Run 5786 mpswise, BCM: All Run 5786 mpswise, BCM: Beam OFF
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Run 5786 mpswise, lasPow: All
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Run 5786, mpswise, lasPow: Beam ON, Laser ON
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Run 5786 mpswise, lasPow: Beam OFF
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Run 5786, mpswise, lasPow: Beam ON, Laser OFF

Eniries: 46565

Mear: 58635 +/- 00140

Sid Dev: 3.0049 - 0.00599
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Run 5786 mpswise, bpmAx: All

Run 5786 mpswise, bpmAx: Beam OFF
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Run 5786 mpswise, bpmAy: All Run 5786 mpswise, bpmAy: Beam OFF
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Run 5786 mpswise, bpmBx: All
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Run 5786 mpswise, bpmBx: Beam OFF
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Run 5786 mpswise, bpmBy: All

%10
120 — Entries: 148784
B Mean: 0.1297 +/- 0.0007
100 __ Sbd Diev: 02861 +- 0.0005
80—
60—
40—
20—
.D_|||||||||||||||||||||||||ﬂ[|||
=14 12 10 B -5 —4 -2 0
bpmBy
Run 5786, mpswise, bpmBy: Beam ON, Laser ON
35|:|'D :— Eniries: TEI12
: Mean: 02201 +- 0.0001
3000 —
— Sbd Deev: 00250 &~ 00001
2500 —
2000 |—
1500 —
1000 —
500 —
'D:"" P N N T T N T T N T 0 O A O L1 1]
012 014 018 018 0.2 022 024 026 0.28 0.3 0.32

6000

5000

4000

3000

2000

1000

=
.y
=8

2500

2000

1500

1000

500

Run 5786 mpswise, bpmBy: Beam OFF
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Run 5786 mpswise, beam ON, laser ON Run 5786 mpswise, beam ON, laser OFF
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Run 5786 mpswise, beam OFF, laser ON Run 5786 mpswise, beam OFF, laser OFF
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Run 5786 mpswise, beam ON, laser ON Run 5786 mpswise, beam ON, laser OFF
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Run 5786 mpswise, beam OFF, laser ON Run 5786 mpswise, beam OFF, laser OFF
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Run 5786 mpswise, beam ON, laser ON
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Run 5786 mpswise, beam OFF, laser ON
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Run 5786 mpswise, beam ON, laser OFF
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Run 5786 mpswise, beam OFF, laser OFF
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Run 5786 mpswise, beam ON, laser ON
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Run 5786 mpswise, beam OFF, laser ON
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Run 5786 mpswise, beam ON, laser OFF
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Run 5786 mpswise, beam OFF, laser OFF
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Run 5786 mpswise, beam ON, laser ON Run 5786 mpswise, beam ON, laser OFF
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Run 5786 mpswise, beam OFF, laser ON Run 5786 mpswise, beam OFF, laser OFF
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Run 5786 mpswise, beam ON, laser ON
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Run 5786 mpswise, beam OFF, laser ON
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Run 5786 mpswise, beam ON, laser OFF
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- t l
INETETE AR A AN RN BT AT RSN B AT AR AR 13 [y
20 40 &0 BO 100 120 140 160 180 200
mpsCoda



BPM By

BPM By

Run 5786 mpswise, beam ON, laser ON Run 5786 mpswise, beam ON, laser OFF
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Run 5786 mpswise, beam OFF, laser ON Run 5786 mpswise, beam OFF, laser OFF
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